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plot, indgen(10) :Direct Graphics

p=plot(indgen(10))  ;New Graphics

& £39 Y XY

ChE2ot 20| & 32 BAIE 2@XDa 2EHE8S
AAFEA X8 = ASUch Ao w2t st &
He Me Qom, QA2 XE Otz MY Zo| Zust
4% 7t w80 g = ASLct

plot, indgen(10), YTICKV=[0, 3, 5, 7.5, 9], YTICKS=6, $
YTICKNAME=["Worst’, ‘Bad’, ‘Normal’, “Good", "Excellent’]
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p=plot(indgen(10), YTICKVALUES=[0, 3, 5, 7.5, 9], $
YTICKNAME=["Worst’, "Bad’, "Normal’, “Good", "Excellent’])
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x=findgen(10)-4

y=10.x

plot, x, y, psym=-2, /YLOG

plot, x, y, psym=-2, /YLOG, XTICKFORMAT="(F5.1)", $
YTICKFORMAT="(E8.1)"

p=plot(x, y, -*’, /YLOG)

p=plot(x, y, -*", /YLOG, XTICKFORMAT="(F5.1)", $
YTICKFORMAT="(E8.1)")
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plot, indgen(100), ytickformat="(13,"%")"
p=plot(indgen(100), ytickformat="(13, "%")")
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x=timegen(start=julday(1,1,2009), final=julday(12,31,2011), $
UNITS="DAYS")

ntms=n_elements(x)

y=randomu(-1L, ntms)*100

plot, x, y, xtickformat="(C(CY104,"/",CM0I02))"

p=plot(x, y, xtickformat="(C(CY104, "/*, CMO0I102))")

2010/01

H
oo
ml:l

Lo A{ FORMAT CODESZ ZAMsf &

o
of ZHW [EE ABY £ UL AT £ A
r

= L =
st SMO| Qo] 2L of St ZE & o

SRt A|ZF =(LABEL_DATE AF2)
LABEL_DATE( ) &5 Ar8StH & O Ztthsta rf
SHA ER/AIZE HE 2-Y = USULCH 249 |
LABEL_DATE()2L CtSaf ZHo| 23§sti|ct.
dummy=label_date(date_format="%Y/%N’

plot, x, y, xtickformat="LABEL_DATE’

p=plot(x, y, xtickformat="LABEL_DATE")
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tickformat=["(C(CMoA))", "(C(CY104))’]

tickunit=["Months’, "Years’]

plot, x, vy, xtickformat=tickformat, xtickunit=tickunit, $
position=[0.1, 0.2, 0.9, 0.9]
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dummy=label_date(date_format=["%M", "%Z'])
plot, x, vy, xtickformat="LABEL_DATE", §

xtickunit=["Months’, “Years’], position=[0.1, 0.2, 0.9, 0.9]
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function mytick, axis, index, value

; print, axis, index, value

intval=round(value)

if intval mod 2 eq 0 then ret="Even” else ret="0dd"

if intval mod 3 eq O then ret=string(value, format="(1))
return, ret

end
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plot, indgen(10), xtickformat="mytick", xtickinterval=1
p=plot(indgen(10), xtickformat="mytick’, xtickinterval=1)
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